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5) AbFHR 1 A o] A
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o

(mg/g) 3.7x107° 35%107° 46x107°

1) 2FE(%)

T 5 1-45 5-8%F 9-125 1-12%
o = F 91.0 90.6" 90.1*" 90.6°
AY 1T 91.7 93.0™" 92,2 92.3%
Alg 2 F 91.8 93.7% 93.5% 93.0°
Al 3 T 89.8 90.5% 89,2 89.8%
AlY 4 F 89.0 83.4" 86.8" 83.1"
AlY 5 F 93.0 94.1*" 94.5° 93.9°
Al 6 T 93.4 95.1° 92,8 93.8°

* ab ; P<0.05



7w 1-4%F 5-8% 9-12%F 1-12%
B = T 59.8£0.55 60.9+0.58 62.7+0.33  61.2£0.44
A1 59.0+0.69 60.6+0.52 62.70.79  60.8+0.66
AE 2 58.7+0.68 60.4+0.59 62.6£0.63  60.6+0.61
Alg 3 59.8+0.31 61.2+0.18 63.1+0.14  61.4+0.13
AE 4 F 58.60.70 60.0£0.68 61.9+0.74  60.2+0.70
Ag 5 58.4+0.39 60.1+0.47 625+0.38  60.3+0.41
Ald 6 T 58.5+0.43 60.8+0.34 62.9+0.49 60.7+0.35

* Means+SE
3) At (g)

TR 1-45 5-85 9-127 1-12%
= T 54.4 55.2 56.5% 55.4%
Al 1T 54.1 56.4% 57.8% 56.1%
AE 2 539 56.6™ 58.6™ 56.4%
Alg 3 53.7 55.4% 56.3" 55.1%
AlY 4 T 52.2 53.1° 53.8" 53.0°
Alg 5 54.3 56.6" 59.1% 56.7°
AlY 6 T 54.7 57.8° 58.4% 56.9°

* a,b ; P<0.05
4) AFEA 3 FH(e)

TR 1-4% 5-85 9-12%F 1-12
g = T 107.0 116.0 1225 115.2
A1 109.5 1195 125.3% 118.1
AE 2 F 111.3 120.3 126.5% 119.3
AE 3 109.3 116.8 122.0% 116.0
Alg 4 109.1 118.1 121.3" 116.1
A 5 111.1 121.7 129.2° 120.7
Alg 6 T 112.3 121.8 128.1%" 120.7

* ab ; P<0.05



TR 1-4% 5-85 9-12F 1-12%
o = 1.97° 2.11° 2.17 2.08"
Al 1T 2.02% 2.12° 2.17 2.11°
Alg 2 2.06% 2.13" 2.16 2,12
Alg 3 T 2.04 2.11° 2.17 2.10°
AE 4 2.09° 2.23" 2.26 2.19%
Alg 5 T 2.05% 2.15% 2.19 2.13%
AE 6 T 2.06" 2.11° 2.20 2,12
* ab ; P<0.05
6) AE=E(%)
T+ B 1-4% 1-8%F 1-125
0 = T 100.0 100.0 100.0
AE 1 93.8 975 975
AE 2 93.8 93.8 93.8
AE 3 100.0 100.0 100.0
AE 4 100.0 100.0 100.0
AE 5 100.0 93.8 93.8
AE 6 100.0 100.0 100.0
B |
D &FFHE
T A 2 45 6T 8T 10+ 12
0 = T 88.9° 92.8" 97.0 97.3 90.6° 984
Al 1T 92.1*  951% 99.9 99.1 99.6°  101.0
Alg 2 T 937"  94.9% 98.6 97.2 99.6*° 9838
Ad 3 97.9° 98.9% 99.2 99.4 985"  99.2
Alg 4 933"  95.6™ 93.6 95.9 97.3* 971
Ald 5 941" 967" 98.4 96.4 989" 938
AE 6 T 9.8 964%™ 96.4 95.1 97.8" 969

* ab,c ; P<0.05



T T 27 4 67 8T 105 125
o = T 76 8.6 8.3 9.0° 9.6" 8.8
Al 1 7.4 8.9 8.2 9.7% 99®  89™
Ay 2 T 7.7 8.9 8.2 9.8° 10.1* 94
Al 3 7.2 8.8 8.1 9.6™ 10.1*  93*
Al 4 7.3 8.8 8.3 9.3 10.0™  9.2%°
Al 5 75 8.7 8.3 9.3 10.3*  9.3"
AlE 6 T 7.3 8.7 8.2 9.4 10.1* 9.2
* ab,c ; P<0.05

7 % 25 45 65 8F 107  12%
0 = 3.99 4.06" 3.70 3.99 376 4.02%
Ay 1T 3.96 3.64™" 3.56 3.83 364 4217
Ay 2 T 3.92 3.94° 3.71 3.79 401 370
A8 3 T 3.74 347" 3.50 3.77 380  3.85%
A 4 T 3.83 3.97 3.79 3.80 375  381%
Al 5 4.10 3.88%" 3.67 3.82 374  3.92%
AlE 6 T 391 3.70™" 3.68 3.99 400 372"
* ab ; P<0.05

T = 25 45 65 8 105 12
0 = T 0.390 0.383 0.383 0.387 0.387  0.390™
AlE 1A 0.391 0.375 0.373 0.382 0.374  0.405°
Al 2 A 0.381 0.334 0.377 0.372 0383  0.371"
Al 3T 0.393 0.372 0.373 0.334 0.378  0.382%
AE 4 A 0.382 0.392 0.370 0.384 0.387  0.380""
Al 5 A 0.387 0.381 0.378 0.3834 0.381  0.378%
A6 T 0.388 0.380 0.373 0.377 0.382  0.382%
* ab ; P<0.05

v}, Fo] 454 Wato] B EHIE 32 (ng/g)

o = T A 0.3%7 2R 0.3% 7 A 0.3% T

T
3} 2.1x107° 51x107° 46x107° 6.6x107°
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